L =X BiER

10 - 20 - 30 - 40EX{LDED Sf6FE1H6H
E | = % ouT IN |ToTAL| HDCcP | NET
& B RHEE 46 42 88 16.8 | 71.2
R A B 45 40 85 132 | 718
3 fi| HEH B 40 45 85 9.6 75.4
4 1| IEBER 50 42 92 156 | 76.4
5 fi| MA#EX 49 49 98 216 | 76.4
BB B RE 53 53 106 216 | 84.4
505X DER
E | = % ouT IN |ToTAL| HDCcP | NET
& | HEwm= 46 39 85 132 | 718
#ER B EH 49 44 93 204 | 726
3 fi BEA 42 41 83 9.6 73.4
4 fi| fEHEA 42 43 85 108 | 74.2
5 fi| EHEE 45 45 90 156 | 74.4
B-B| kER 53 63 116 348 | 81.2
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E | = % ouT IN |ToTAL| HDCcP | NET
& Bs| ok g 45 48 93 216 | 714
@ BIE Kk 44 38 82 9.6 72.4
3 fi| Rk A— 43 37 80 7.2 72.8
4 | HMEEN 40 46 86 132 | 728
5 | #EWHY 48 46 94 204 | 73.6
B-B| &l &dA 60 49 109 264 | 826
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